[ Efficiency vs vertpos |
- 05

- 4T
R 3 “%
Q b LT T e Y L1
o 1 . 5 5
= <4+ 8 8
o] o Tl HES
[0 SO SO Rt 1 Y O B I RO Y 1 1 PPN
5 <+ H |
T
<-4t Hleet] -4 O E TN e P

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimwP2_epoch4

N 1.2
e e S e

e et o s

efticiency vs ver

R O A T T
s T S

1771 SR SUUPUINS USRI SUSPUONS 00 (O e

Ratio

1.05

[y

09 —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

> F : : E
R Y ) S S P
£ E : : :
7)0085_ """" 1
010 y{ RSO SRR A SRS I p -
P E : : :
[0 )015) RTERRICSPPRRPRE SOUPRPRYS PR S DR e
o F : : .
[} F . . H
£ 0.05 -ttt g e
(] F N H .
0.04F- |+ 3o N S 1 I | -
0.03F Y SO I S -
0.02F L3y it -
0.0 ; + ----- oo
AE. | s A
2 " : ] |
I r : : :
[

PO -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


